
 



 









 

AHP Totals 45,192 93,642 153,390 308,142 34,685 66,557   
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Step # Step 

1 Identify the projects covered by the HW LTP budget and the date for these projects - these will be timed based on 
the timing year in the LTP 

2 Total up the costs for all other projects (so all projects less the HW LTP Projects) 

3 Estimate the amount of growth per year from Start Year (2027 earliest year that projects can start) to End Year 

4 Multiply total costs of projects x %age growth per year = $'s per year 

5 Estimate the timing of the $'s based on the growth from Start Year (2027 earliest year that projects could be 
delivered) to end year, proportioned  

  Timing will be the completion Year of the project 

6 Costs spread over the completion year and the prior 2 years (total of 3 years of spend in total) 

7 Escalate costs 

8 Overlay what budget is available. If budget is not available, then move projects out to 2035 onwards 

  Finance to coordinate with HW/DPO to ensure right projects are moved out 
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Project 

Type 

Pipe 

Criticality 

Pipe 

Condition 

Expected 

rate of 

renewal 

over period 

Replacement 

cost as % of 

total upgrade 

cost 

Renewal 

share to 

be applied 

Comment 

Upgrade 4 or 5 4 or 5  100.0% 70.0% 70.0% 100% of condition 4 and 5 

critical pipes to be replaced 

within next 5-10 years 

Upgrade 4 or 5 3 30.0% 70.0% 21.0% 30% of condition 3 critical 

pipes expected to degrade 

to condition 4 or 5 and 

require replacement within 

30 years 

Upgrade 4 or 5 1 or 2 0.0% 70.0% 0.0% Newer pipes, no renewal 

expected over 30 years. 

Upgrade 4 or 5 Not 

Surveyed 

16.7% 70.0% 11.7% Condition unknown, applied 

average rate of renewal 

across all critical pipes, see 

table below 

Upgrade 1,2 or 3 All 3.8% 70.0% 2.7% Reactive replacement only, 

where pipe has failed. 

Expect to replace 3.8% of 

non-critical pipes over 30 

years 

Extension N/A N/A 0.0% 0.0% 0.0% New asset, no renewal 

Renewal 

only 

All All 100.0% 0.0% 100.0% Renewal only projects e.g. 

same size pipe, like for like 

replacement. 
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